
 

Model Lesson Plan 

 

Class: IX     Average age of pupils: 13-14 years 

Subject: Science    Duration: 40 minutes 

Topic: Rutherford’s model of an atom 

 

Learning Outcomes:  

 Students will be able to learn about the atom and its structure. 
 Students will be able to understand basic model of an atom. 
 Students will be able to recognise subatomic particles like protons, 

electrons and neutrons. 
 Students will be able to take initiatives to know about scientific inventions. 
 Students will be able to apply concept of chemistry in daily life with 

reasoning while decision making and solving problems. 

 

Learning objectives: 

a) Knowledge objectives: 
 Students will be able to recall model of an atom. 
 They will recall subatomic particles. 

b) Understanding objectives: 
 Students will be able to understand and define Rutherford’s 

model of an atom. 
 Students will be able to understand and differentiate between 

subatomic particles and their positions and charge. 
c) Application objectives: 

 Students will be able to apply concept of model of atom in 
solving the problems related to real life like basic nature of 
charges. 

 Students will be able to apply the concept of repulsion between 
like charges and attraction between unlike charges in day-to-day 
life. 

d) Skill objectives: 
 Students will be able to draw diagram showing model of an atom. 



 Creativity will be enhanced among students. 
e) Behavioural objectives:  

 The students will be able to learn about size, shape and model of 
atom and how subatomic particles are situated in an atom. 

f) General aim:  
 To develop scientific aptitude and observation among the 

students. 
 To develop power of thinking, reasoning and imagination among 

the students. 
 To develop creativity and interest among the students. 
 To provide opportunity to develop scientific skills and apply 

them in daily life observations. 

 

Learning resources: 

 General:  

 Chalk, Black board, Duster 

Specific (Content based):  

 Chart showing diagrams of Rutherford’s model of an atom. 
 PowerPoint presentation of Dalton’s atomic theory. 

Teaching Methods:  

 Lecture-cum-demonstration method 
 Learning by doing method 

 

Previous knowledge assumed: 

It is assumed that students have knowledge about what is an atom, 
its size and it have subatomic particles. 

 

Previous knowledge testing:  

In order to introduce the topic, teacher will show a powerpoint 
presentation in class having postulates of Dalton’s atomic theory, 
comparison of objects to give a clear concept about how small an 
atom is. 

 



Teacher will ask following introductory questions also: 

 

Sr. No. Teacher’s question Pupil’s answer 

1. Do you know about atom? Yes 

2. How small is an atom? It is very small and 
can’t be seen with 
naked eyes. 

3.  Name the particles present 
in an atom. 

Electron, proton, 
neutron 

4.  Do you know what the 
exact location of an 
electron in an atom is? 

No response 

 

Announcement of the topic: 

Finding the students unable to answer the last question, teacher will 
announce the topic, “Students, today we will study about 
‘Rutherford’s model of an atom”. 

Presentation: 

Teacher’s activity 
 
 
Rutherford’s gold foil experiment: 
 
Rutherford proposed the atomic 
structure of elements. He 
established an experimental setup 
using a gold foil and allowing 
alpha particles to bombard on it. 
 
What are alpha particles? 
 
 
Experimental setup: 
 

1. He selected a thin gold foil. 

Pupil’s activity 
 
 
Pupils listen carefully 
and note down in their 
notebook. 
 
 
 
 
 
 
Helium nucleus 
 
 
 
 

Chalk board work 
 
 
 
 
 
Alpha particles: Positively 
charged He nucleus. 
 

 



2. The fast-moving alpha 
particles are allowed a very 
thin gold foil in vacuum. 

 
 
 
 
Observations:  

1. Most of the alpha particles 
pass straight through gold 
foil without any deflection 
from their original path. 

2. A few alpha particles are 
deflected through small 
angles, and few are 
deflected through large 
angles. 

3. A very few alpha particles 
completely rebound on 
striking the gold foil and 
turnback on their path. 

 
Conclusions:  

1. As most of the alpha 
particles pass straight 
through the gold foil 
without any deflection it 
shows that there is lot of 
empty space in an atom. 

2. Some of alpha particles are 
deflected through variable 
angles show that there is 
positive centre in an atom 
which repel the positively 
charged alpha particles. 

3. Very few alpha particles 
rebound on striking gold 
foil show that all the 
positive charge and mass of 
the atom are concentrated in 
very small volume within 
an atom. 

 

Students will observe 
the diagram of 
experimental setup. 
 
 
 
 
 
 
 
 
 
 
 
 
Students will carefully 
observe the diagram. 
 
 
 
 
 
 
 
 
 
 
 
Students listen 
carefully and try to 
repeat the conclusions 
and note down in the 
notebook. 
 
 
 
 
 
 
 
 
 
 

 
Fast moving alpha particles 
have considerable amount 
of energy. They can 
penetrate through the 
matter. 
 
 

 
 
 
 
 

1. most of the alpha 
particles pass straight 
 there is lot of 
empty space in an 
atom. 

 
2. Some of alpha 

particles are 
deflected through 
variable angles  

there is positive centre. 
 

3. Very few alpha 
particles rebound  
positive charge and 
mass of the atom are 
concentrated. 

 
 



Rutherford’s Model of an Atom: 
1. An atom consists of 

positively charged, dense 
and very small nucleus 
containing protons and 
neutrons; the entire mass of 
an atom is concentrated in 
the nucleus. 

2. The nucleus is surrounded 
by negatively charged 
electrons. The electrons are 
revolving around the 
nucleus in circular paths at 
very high speed. These 
circular paths of electrons 
are called orbits. 

3. An atom is electronically 
neutral because the number 
of protons and electrons are 
equal. 

4. The size of nucleus is very 
small as compared to size of 
atom. 

 
 
Limitations of Rutherford’s Model 
of Atom: 
 

1. He does not explain the 
stability of an atom. In his 
model of atom, the 
negatively charged 
electrons revolves around 
the positively charged 
nucleus in circular path, if 
an object moves in circular 
path its motion is 
accelerated as is electrons 
and particles moving in 
accelerated motion radiate 
energy continuously. 
Therefore, energy of 
electrons will decrease, and 

 
 
Students will observe 
the chart carefully. 
 
 
 
 
 
 
Students will observe 
the chart carefully. 
 
 
 
 
Students will observe 
the chart carefully. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Students will listen 
carefully and note 
down in their 
notebook. 

Nucleus: positively charged 
mass in centre of an atom. 
 

 
Electrons revolve in orbits 
around the nucleus. 
 
 
 
Atom is electronically 
neutral because number of 
protons and electrons are 
equal.  
 
 
 
 
 
 
 
  



their speed will go on 
decreasing and ultimately 
the electron should fall into 
nucleus causing atom to 
collapse. So, it could not 
explain the stability of 
atom. 

2. He did not say anything 
about arrangement of 
electron in an atom. 

 

Recapitulation:  

Teacher will show a video to recapitulate the whole topic more clearly to the 
students and ask questions to get feedback from the students which will be 
answered satisfactorily by the students. 

Video link: https://youtu.be/kHaR2rsFNhg  

Evaluation:  

Sr. No. Teacher’s 
question 

Pupil’s answer 

1. Explain 
Rutherford’s 
gold foil 
experiment. 

In this experiment fast 
moving alpha particles were 
made to fall on a thin gold 
foil. 

2. What were 
observations of 
this experiment? 

1. Most alpha particles 
passed straight through 
the foil. 

2. Few were deflected at 
variable angles. 

3. Very few were 
deflected back along 
the same path. 

 

Homework:  

1. Fill in the blanks: 

a) According to the Rutherford’s atomic model, the atom as a whole is 
  ________________. 



b) The complete mass and positive charge are concentrated in  _______ 
 of an atom. 

2. List the observations of alpha particle scattering experiment. 

  

3. What are the limitations of Rutherford’s model of atom.  

 

4. Explain in detail about Rutherford’s atomic model with the help of 
diagram. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



आदश[ पाठ योजना 

 

क¢ा: नɋवी     ͪवɮयाͬथ[यɉ कȧ औसत आयु: 13-14 साल 

ͪवषय: ͪव£ान    अवͬध: 40 ͧमनट 

ͪवषय: रदरफोड[ का परमाण ुका मॉडल 

 

अͬधगम ĤǓतफल :  

 छाğ परमाण ुऔर इसकȧ संरचना के बारे मɅ जानने मɅ स¢म हɉगे। 
 छाğ परमाण ुके मूल मॉडल को समझने मɅ स¢म हɉगे। 
 छाğ Ĥोटॉन, इलेÈĚॉन और ÛयĚूॉन जैसे  अवपरमाणकु  कणɉ को पहचानन े

मɅ स¢म हɉगे। 
 छाğ व£ैाǓनक आͪवçकारɉ के बारे मɅ जानने के ͧलए पहल कर सकɅ गे। 
 छाğ Ǔनण[य लेने और समèयाओं को हल करने के दौरान तक[  के साथ 

दैǓनक जीवन मɅ रसायन ͪव£ान कȧ अवधारणा को लागू करने मɅ स¢म 
हɉगे। 
 

अͬधगम उɮदेæय: 

g) £ान के उɮदेशय: 
 छाğ एक परमाणु के मॉडल को याद करन ेमɅ स¢म हɉगे। 
 वे  अवपरमाणकु  कणɉ को याद करɅगे। 

h) बोध उɮदेशय: 
 छाğ रदरफोड[ के परमाणु के मॉडल को समझने और पǐरभाͪषत 

करने मɅ स¢म हɉगे। 



 छाğ  अवपरमाणकु  कणɉ और उनकȧ िèथǓत और आवेश के 
बीच समझने और अतंर करन ेमɅ स¢म हɉगे. 

i) अनुĤयोग उɮदेशय: 
 छाğ वाèतͪवक जीवन स ेसंबंͬ धत समèयाओं को हल करने मɅ 

परमाण ुके मॉडल कȧ अवधारणा को लाग ूकरन ेमɅ स¢म हɉगे 
जैसे ͩक आवेश कȧ मलू ĤकृǓत। 

 छाğ Ǒदन-ĤǓतǑदन के जीवन मɅ समान आवेश के बीच ĤǓतकष[ण 
और असमान आवेश के बीच आकष[ण  कȧ अवधारणा को लागू 
करने मɅ स¢म हɉगे। 

j) कौशल उɮदेæय: 
 छाğ एक परमाणु के मॉडल का आरेख बनाने मɅ स¢म हɉगे। 
 ͪवɮयाͬथ[यɉ मɅ रचना×मकता बढ़ेगी। 

k) åयवहार संबंधी उɮदेæय:  
 छाğ परमाण ुके आकार, आकृǓत और मॉडल के बारे मɅ जानने मɅ 

स¢म हɉगे और एक परमाण ुमɅ  अवपरमाणुक  कण कैसे िèथत 
हɇ। 

l) सामाÛय उɮदेæय:  
 छाğɉ के बीच व£ैाǓनक योÊयता और अवलोकन ͪवकͧसत करना। 
 छाğɉ के बीच सोच, तक[  और कãपना कȧ शिÈत ͪवकͧसत करना। 
 छाğɉ के बीच रचना×मकता और ǽͬच ͪवकͧसत करना। 
 व£ैाǓनक कौशल ͪवकͧसत करने और उÛहɅ दैǓनक जीवन मɅ लाग ू

करने का अवसर Ĥदान करना। 

 

अͬधगम संसाधन: 

 सामाÛय:  

 चाक, Þलैक बोड[, झाड़न 



ͪवͧशçट (पाठ आधाǐरत) :  

 रदरफोड[ के परमाण ुके मॉडल के आरेख Ǒदखान ेवाला चाट[। 
 डाãटन के परमाण ुͧसɮधांत कȧ पावरपॉइंट ĤèतǓुत। 

ͧश¢ण के तरȣके:  

 åयाÉयान-सह-Ĥदश[न ͪवͬध 
 करके सीखना ͪवͬध  

 

अनुमाǓनत पूव[ £ान: 

यह अनुमाǓनत है ͩक छाğɉ को एक परमाणु, उसके आकार के बारे 
मɅ £ान है और इसमɅ  अवपरमाणकु  कण हɇ। 

पूव[ £ान परȣ¢ण:  

ͪवषय का पǐरचय देन ेके ͧलए, ͧश¢क डाãटन के परमाण ुͧसɮधांत 
के ͧसɮधातंɉ के साथ क¢ा मɅ एक पावरपॉइंट ĤèतǓुत Ǒदखाएगा, इस 
बारे मɅ एक èपçट अवधारणा देने के ͧलए ͩक वèतओुं कȧ तुलना मɅ 
एक परमाणु ͩकतना छोटा है।  

 

ͧश¢क ɮवारा Ǔनàनͧलͨखत पǐरचया×मक Ĥæन भी पछूɅ  जायेगɅ  : 

 

Đम 
सÉंया  

ͧश¢क का Ĥæन छाğ का जवाब 

1. Èया आप परमाण ुके बारे मɅ 
जानते हɇ? 

हा ँ

2. परमाण ु ͩकतना छोटा होता 
है? 

यह बहुत छोटा है 
और इसे नÊन 



आंखɉ से नहȣ ंदेखा 
जा सकता है। 

3.  एक परमाणु मɅ मौजूद कणɉ 
के नाम ͧलͨखए। 

इलेÈĚॉन, Ĥोटॉन, 
ÛयĚूॉन 

4.  Èया आप जानते हɇ ͩक एक 
परमाण ु मɅ इलेÈĚॉन का 
सटȣक èथान Èया है? 

कोई जवाब नहȣ ं

 

ͪवषय कȧ घोषणा: 

छाğɉ को अǓंतम Ĥæन का उƣर देने मɅ असमथ[ पाते हुए , ͧश¢क 
ͪवषय कȧ घोषणा करेगा , “छाğɉ, आज हम 'रदरफोड[ के परमाणु के 
मॉडल' के बारे मɅ अÚययन करɅगे”. 

ĤèतुǓत: 

 

ͧश¢क कȧ गǓतͪवͬध 
 
रदरफोड[ का गोãड पÛनी Ĥयोग: 
 
रदरफोड[ ने त×वɉ कȧ परमाण ु
संरचना का Ĥèताव Ǒदया. उÛहɉन े
सोने कȧ पÛनी का उपयोग करके 
एक Ĥयोगा×मक åयवèथा èथाͪपत 
कȧ और अãफा कणɉ कȧ उस पर 
बौछार कȧ।  
 
अãफा कण Èया हɇ? 

छाğ कȧ गǓतͪवͬध 
 
 
 
 
ͪवɮयाथȸ Úयान से 
सुनते हɇ और अपनी 
नोटबुक मɅ नोट करते 
हɇ। 
 
 
हȣͧलयम का नाͧभक  

चाक बोड[ का काम 
 
 
 
 
 
 
अãफा कण: धन आवेͧशत 
हȣͧलयम का नाͧभक।  



 
 
Ĥायोͬगक åयवèथा : 
 
1. उÛहɉने एक पतलȣ सोने कȧ 
पÛनी का चयन ͩकया। 
2. तेजी से चलन ेवाले अãफा कणɉ 
को वैÈयूम मɅ बहुत पतलȣ सोने कȧ 
पÛनी पर बौछार कȧ जाती है। 
 
 
Ĥे¢ण:  

1. अͬधकांश अãफा कण अपने 
मूल पथ स ेͩकसी भी ͪव¢ेप 
के ǒबना सीधे सोने कȧ पÛनी 
से गुजरते हɇ. 

2. कुछ अãफा कणɉ को छोटे 
कोणɉ के माÚयम से 
ͪव¢ेͪपत ͩकया जाता है, 
और कुछ को बड़ ेकोणɉ के 
माÚयम स े ͪव¢ेͪपत ͩकया 
जाता है. 

3. बहुत कम अãफा कण सोन े
कȧ पÛनी पर हमला करने 
पर पूरȣ तरह स ेपलट जाते 
हɇ और अपने राèते पर 
वापस आ जात ेहɇ. 

 
 

 
छाğ Ĥयोगा×मक 
åयवèथा के आरेख का 
Ǔनरȣ¢ण करɅगे। 
 
 
 
 
 
 
 
 
 
 
 
 
छाğ Úयान से आरेख 
का Ǔनरȣ¢ण करɅगे. 
 
 
 
 
 
 
 
 
 
 
 

 
तेजी स ेचलने वाले अãफा 
कणɉ मɅ काफȧ माğा मɅ ऊजा[ 
होती है। वे पदाथ[  के मÚय 
से Ĥवेश कर सकते हɇ। 
 
 

 
 
 
 
 



Ǔनçकष[:  
1. चूंͩ क अͬधकांश अãफा 
कण ǒबना ͩ कसी ͪ व¢ेपण के 
सीधे सोन े कȧ पÛनी से 
गुजरत ेहɇ, यह दशा[ता है ͩक 
एक परमाण ुमɅ बहुत खालȣ 
जगह है। 
2. कुछ अãफा कणɉ को 
ͪवͧभÛन कोणɉ के माÚयम 
से ͪव¢ेͪपत ͩकया जाता है, 
यह दशा[ता है ͩक एक 
परमाण ु मɅ धन आवेͧ शत  
कɅ ġ होता है जो धन 
आवेͧशत अãफा कणɉ को 
पीछे हटाता है। 
3. सोने कȧ पÛनी पर बहुत 
कम अãफा कण पलटते हɇ 
जो Ǒदखाते हɇ ͩक परमाणु के 
सभी धन आवेश और 
ġåयमान एक परमाणु के 
भीतर बहुत कम èथान  मɅ 
कɅ Ǒġत होत ेहɇ। 

 
रदरफोड[ का परमाण ुका मॉडल: 

1. एक परमाण ु के मÚय 
बहुत छोटा, सघन धन 
आवेͧशत स ेनाͧभक होता है 
िजसमɅ Ĥोटॉन और ÛयĚूॉन 
होत ेहɇ; एक परमाण ुका परूा 

 
 
 
 
 
 
 
 
छाğ Úयान से सुनत ेहɇ 
और Ǔनçकषɟ को 
दोहराने और नोटबकु 
मɅ नोट करने का 
Ĥयास करत ेहɇ। 
 
 
 
 
 
 
 
 
 
 
 
 
 
छाğ चाट[ को Úयान से 
देखɅगे। 
 

 
1. अͬधकांश अãफा कण 

सीधे गुजरते हɇ   
एक परमाणु मɅ बहुत 
सारȣ खालȣ जगह 
होती है। 

 
2. अãफा कणɉ मɅ से 

कुछ को ͪवͧभÛन 
कोणɉ के माÚयम स े
ͪव¢ेͪपत ͩकया जाता 
है  धन आवेͧ शत  
कɅ ġ है. 

 
3. बहुत कम अãफा कण 

पलटते हɇ  परमाण ु
का धन आवेश  और 
ġåयमान कɅ Ǒġत होता 
है। 

 
 
 
 
 
 
 
नाͧभक: एक परमाणु के कɅ ġ 
मɅ धन आवेͧ शत ġåयमान। 
 



ġåयमान नाͧभक मɅ कɅ Ǒġत 
होता है। 
2. नाͧभक ऋण आवेͧशत 
इलेÈĚॉनɉ से Ǔघरा हुआ है। 
इलेÈĚॉन बहुत उÍच गǓत से 
गोलाकार पथɉ मɅ नाͧभक के 
चारɉ ओर घूम रहे हɇ। 
इलेÈĚॉनɉ के इन वƣृाकार 
पथɉ को क¢ा कहा जाता है। 
3. एक परमाणु इलेिÈĚक 
Ǿप स े तटèथ है Èयɉͩक 
Ĥोटॉन और इलेÈĚॉनɉ कȧ 
सÉंया बराबर है। 
4. नाͧभक का आकार 
परमाण ुके आकार कȧ तुलना 
मɅ बहुत छोटा होता है। 

 
 
रदरफोड[ के परमाण ु मॉडल कȧ 
सीमाएं: 
 

1. वह परमाण ुके अपने मॉडल 
मɅ एक परमाण ुकȧ िèथरता 
कȧ åयाÉया नहȣ ंकरता है। 
ऋण आवेͧशत इलेÈĚॉन 
वƣृाकार पथ मɅ धन 
आवेͧशत नाͧभक के चारɉ 
ओर घूमते हɇ, यǑद कोई 
वèतु वƣृाकार पथ मɅ चलती 

 
 
 
 
छाğ चाट[ को Úयान से 
देखɅगे। 
 
 
 
 
छाğ चाट[ को Úयान से 
देखɅगे। 
 
 
 
 
 
 
 
 
 
 
 
 
 
छाğ Úयान स े सुनɅगे 
और अपनी नोटबुक मɅ 
नोट करɅगे। 

 
इलेÈĚॉन नाͧभक के चारɉ 
ओर क¢ाओ ंमɅ घूमत ेहɇ। 
 
परमाण ु इलेिÈĚक Ǿप स े
तटèथ है Èयɉͩक Ĥोटॉन और 
इलेÈĚॉनɉ कȧ संÉया बराबर 
है।  
 
 
 
 
 
 



है तो उसकȧ गǓत तेज हो 
जाती है जैसा ͩक इलेÈĚॉन 
है, और ×वǐरत गǓत मɅ 
चलने वाले कण लगातार 
ऊजा[ का ͪवͩकरण करते हɇ। 
इसͧलए, इलेÈĚॉनɉ कȧ ऊजा[ 
कम हो जाएगी, और उनकȧ 
गǓत कम होती चलȣ जाएगी 
और अंततः इलेÈĚॉन को 
नाͧभक मɅ ͬगरना चाǑहए 
िजससे परमाण ुढह जाएगा। 
इसͧलए, यह परमाणु कȧ 
िèथरता कȧ åयाÉया नहȣ ं
कर सका। 

2. उÛहɉन े एक परमाण ु मɅ 
इलेÈĚॉन कȧ åयवèथा के 
बारे मɅ कुछ नहȣं कहा. 
 

 

दोहराई:  
ͧश¢क छाğɉ को पूरे ͪवषय को अͬधक èपçट Ǿप से पुन: Ĥèततु करन ेके ͧलए 
एक वीͫडयो Ǒदखाएगा और छाğɉ स ेĤǓतͩĐया ĤाÜत करने के ͧलए Ĥæन पछूɅगɅ 
िजनका उƣर छाğɉ ɮवारा संतोषजनक ढंग से Ǒदया जाएगा। 

 

वीͫडयो ͧलकं: https://youtu.be/_Add-ZUNhZ8  

 

मãूयांकन:  



Đम 
सÉंया  

ͧश¢क का Ĥæन छाğ का जवाब 

1. रदरफोड[ के सोने 
कȧ पÛनी Ĥयोग 
को èपçट 
कȧिजए। 

इस Ĥयोग मɅ तेजी से चलने 
वाले अãफा कणɉ को एक 
पतलȣ सोने कȧ पÛनी पर 
ͬगराया गया था। 

2. इस Ĥयोग के 
अवलोकन Èया 
थ?े 

1. अͬधकांश अãफा कण 
सीधे पÛनी के मÚय  
से  सीध ेगुजरत ेथ।े 

2. कुछ को ͪवͧभÛन  
कोणɉ पर ͪव¢ेͪपत 
ͩकया गया था. 

3. बहुत कम कणɉ  को 
उसी राèत े पर वापस 
मोड़ Ǒदया गया था। 

 

 

गहृकाय[:  

1. ǐरÈत èथान भरɅ: 

a) रदरफोड[ के परमाणु मॉडल के अनुसार, परमाणु मूल Ǿप स े_____ है।  

b) पूण[ ġåयमान और धन आवेश एक परमाण ुके _____________ मɅ 
कɅ Ǒġत होत ेहɇ। 

2. अãफा कण Ĥकȧण[न Ĥयोग के अवलोकनɉ को सूचीबɮध करɅ. 

  

3. रदरफोड[ के परमाण ुमॉडल कȧ सीमाएं Èया हɇ.  



 

4. आरेख कȧ सहायता से रदरफोड[ के परमाणु मॉडल के बारे मɅ ͪवèतार स े
बताइए. 

 

 

 

 

 


